Name:  _____________________________________ HR: __________ Date:  ________________________

Ratio Tables Practice Homework

Complete the ratio table for each of the problems below.  Then answer the question.

Example:  The ratio of apples to oranges in a fruit basket is 3 to 1.  If there are 12 apples and oranges in the fruit basket altogether then how many oranges are there?

	Apples
	3
	
	

	Oranges
	1
	
	

	Total
	
	
	12



Answer: __________________


1. The ratio of doves to parrots in a cage is 1 to 2.  If there are 6 doves and parrots altogether in the cage, then how many parrots are there?
Answer:  ___________________
	Doves
	1
	
	

	Parrots
	2
	
	

	Total
	
	6
	


2. The ratio of blue marbles to red marbles in a box is 2 to 1. If there are 12 blue marbles in the box then how many blue & red marbles are there in total?

Answer:  ___________________

	Blue
	2
	
	
	

	Red
	1
	
	
	

	Total
	
	
	
	


3. The ratio of bananas to peaches in a fruit basket is 4 to 1.  If there are 4 peaches in the fruit basket then how many bananas and peaches are there altogether?

Answer:  ___________________

	Bananas
	
	
	
	

	Peaches
	
	
	
	

	Total
	
	
	
	


4. Purple paint is made by mixing red and blue paint.  Complete the ratio table to show the number of red cups of paint, blue cups of paint and total number of cups of paint for five different amounts of this shade of purple.


	Red Paint
	
	
	
	
	

	Blue Paint
	
	
	
	
	

	Total Paint
	
	
	
	
	


5.  Solve this problem using a tape diagram.  Then solve it using a ratio table.
A bag of trail mix has 10 grams of raisins for every 6 grams of sunflower seeds.  In 400 grams of trail mix, how many grams are raisins?

	Tape Diagram: 

          Answer:
	Ratio Table:

          Answer:  


What is the same about the tape diagram and the ratio table?  __________________________

_________________________________________________________________________________________________

What is something different?  ______________________________________________________________

Which do you like using better?  ___________________________________________________________

I am told I have 3 apples to every 1 orange so I can figure out that the total is 4.  Then I can count by the 3 apples, filling in 3, 6, and 9.  I can count by 1 for the oranges making 1, 2, and 3.  Then I can add down and find that the totals are 4, 8 and then 12.  I am looking for the oranges when the total is 12 so I look in that column and see that it is 3.
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